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QUESTION

[f the sum of n terms of an A.P. is given by
S =3n+ 2n?, then the common difference of the A.P. is
(A) 3 (B) 2 (C) 6 (D} 4

S/ = 83X/ + »?)(Cr)2 = @ = Q (]lr'mf 7‘em)
5, = 352 + 4?)((’2)2: 6+ ¢ =y = G +a, = 02:/9’-—5:

a+d =4
544 =9
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QUESTION
The third term of G.P. 1s 4. The prﬁ:duct of its first 5 terms 18
(A) 43 (B) 44 C) 4° (D) None of these
N
h-/
d. - Qr
ar’ = 4 "
0

0,‘“2' 43'07'45‘ =

a (ar)(mr‘) (ar3) (av ")

/o 9
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QUESTION

If x, 2y, 3z are in A.P., where the distinct numbers x, y, z are in G.P. then the
common ratio of the G.P. 1s

(A) 3 9 % ©) 2 (D) % onmen ratro
e fhey o Z_
4(«%):%31 0{‘:12 —é;L— ! J

If = 232 0’1:%(/7’1) o+ L

fy -2 = 3z . 4y -1
é( d iqx&« _/}3_(_&{_)+ [ =
BZ[V'O;Z 301#% /
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e

zl
3 (r - ’/
2(1) Yy
3r + L =]
4 by
37&‘/‘/ =

ol — 4yt = 0

(1) 3
.}6) ’3['/ puk- of:h‘mf Oho check
r _
(c) 2
(4) 1
) g{)
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HARMONIC PROGRESSION (/)

—ly nl& 0, / a2 / q3 ~ - an a YQ
#’U) A / L / L .. L
q 4, 4, ay

9

In

AP
/
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GENERAL TERM

¥ ’)g fhrer numbers
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QUESTION
The fifth term ofthe H.P.,, 2, 2%? 31

3

@ 5~ (b 3~ © —
a) o5 5 “ 10
5 b

p — °?f :’,"'/ --‘-3-'

___________________ will be
(d) 10
%

Pl'/ﬁa fermy of AP

S - A+Yyd
Az Y.L _2
+‘/(___ > £

o /0 [0

,M.— R :
TQCF/"WC&/ Il be Texm in HE /0
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HARMONIC MEAN (/it)
for  fivo /’Mfﬁ’w numbers & L b,

HM = 266
a+b
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AM, GM AND HM

fr & vumbag  a and b,
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SPECIAL SERIES AND SUM
@ Sum Of_ﬁ'r!f 'n" Jarms

| + 2 +34Y+ ____.n = ”(”"’2

3
[+arsry .o = 10 () _(55)
2

@ Sum 0/__7[1\7‘9; \7)/ gZuayu °

/3 42+32+91,_M+ R (”H)(ZMI)

Fratrs gt = 4(s)(9) ___ ¢

2
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{7
@ Sum (?[ ff'rg/' N by S

/3+23+33+“_~ ”3 ~ L (THI ['n(r).ﬁ)]

(fganre, /[ !umﬁ ﬁrr/ 'n"fcrmg)
/g'f'?:‘f‘gg = 36 - 2&]2262:
p
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52465+ 9"+ 8"
_ (,a_} 9% gty k’") — (/27‘227‘!21"/9')

= 8()) _ 4l .
6 6
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SPECIAL SERIES AND SUM
— P fQDG{ a.n . /oy Ser/f.
S = L4,

by = P’ F 40"+ (0 + 4
LR 2(/9:957‘1»21‘07) +d)

= pEn’+ g &'t cdn v 42
- p(red)* 1 grlaeilne) 4 enlna) 4oy
4 6 2 —
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QUESTION

If p?, g* and * (where p, g, r > 0) are in GP, then which of
the following is/are correct? o PYQ - 2020
1. p, gandrare in GP.

2. Inp,Ingandlnrarein AP. v/

Select the correct answer using the code given below :
(a) 1only (b) 2 only

(c) Both1land2 (d) Neither 1 nor 2

o A I 2 S e e

EXAMS

(]
3 ?z___/” — Pg,7 ove &,
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A {r by
f / 0,6,¢ In Ap

lhz~£7)/0 - /(Y))"—lnz ( é‘@ > C-—é)

In /,__g/_) - ﬂn(_%_) Inx - fn&l ~ ﬂn[_&’{_)

Y

9 -y
Py
gropr D pogir i Gp o F P g end i Gp

t
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QUESTION

.Ifﬂ, b,CHIE:iIlAP; b,c,da.‘reinGP; pyq_2024_|
¢, d, e are in HP, then which of the
following is/are correct ?

b =
l.a,candearemGP\/ﬁ(szae) atc

1

2. =, 1, larf: in G]E:/ CQ: 6%

a ¢ ¢

/
Select the correct answer using the q/ _9¢e /D
code given below : ~

—————

(a) 1 only Cte

(b) 2 only cl: é Qge

(c) Bothland\Z/ ' o+e

(ti) Neither 1 nor 2 9
CL"'CQ - 0be ——> C™FC = (d-ﬂ)&

2
(tice = ae +Ce > (L =at
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QUESTION

.Ifa, band ¢ (a > 0, ¢ > 0) are in GP,
then consider the following in respect
of the equation ax?* + bx+c¢=0:

1. The equation has imaginary roots.
“

2. The ratio of the roots of the
equation is 1:® where @ is a
cube root of unity. v

3. The product of roots of the
b2

uation 18 | —|.

@ —6 7 \/Zz—lmc

2a

(=]

2
PYQ - 2024 - | (% = ac
yac

Which of the statements given above

are correct ? @

axt+br +¢ =0

(a) 1 and 2 only D -~ 5"- 7’
(b) 2 and 3 only :aC"‘/dC
(c) 1 and 3 only - __3
- aC < 0
d) 1,2 and 3
v/ (4 70,¢70)

_ ~Jac +-3ac _ -./a_z'(/? =3

2@ Q
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e (1 Fg) :

fatip o/ 700 1

—b p
a /

—b
a -

—b u
Q

w-

\
|
~
ey
“O

2
- _é_a_—, w; > 6__.
a* a*
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QUESTION
: , : , : are in A.P. then,
g+r r+p p+gq
(@) p,g raremAP 9 p* g% rrarein AP

1 11
¢) > s> areinA.P d +g+raremm AP
© 7 d) ptgq

i+ g = =Pl by
i) Gpeplg) o) vt

L 0
QZ”: er’ > fzx 32/ reoan Infp

N————




NDA 1 2025 — LIVE CLASS — MATHS — PART 2

QUESTION
The sum of the first n terms of the series
St st e 1s equal to
(a) 2"-n-1 (b 1-2"
Q: 2‘“+_11—1 (d) 2?—_1
/ ]
- 3
a?';;!.‘f'hc?’z/ y 3L -, Py
] 3 ?Y Y
- -1 =a
= 5 .
[
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él:'?)
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